		ATION- 2024 STREET IMPROVEMENTS- CONTRACT A & B																
Ref. No.	Item No.	Description	Unit	Quantity	Engine	eer's Estimate		-	3040 McKi Columbus,	onstruction nley Avenue Ohio 43204 88-7958			159: Columb	Paving Company 5 Frank Road sus, Ohio 43223 4) 276-5273	_		345 Columb	t Landscape, Inc. 0 E. 7th Ave. sus, Ohio 43219 4-989-0697
					Unit Price	Item Total	Material Bid	Labor Bid	Unit Price	Item Total	Material Bid	Labor Bid	Unit Price	ltem Total	Material Bid	Labor Bid	Unit Price	Item Total
		CONTRACT A- ASPHALT PAVEMENT																
1	203	Asphalt Base Replacement or trench repair w/ 448 T2 Asphalt, as Directed	C.Y.	150	\$600.00	\$90,000.00	\$143.50	\$381.14	\$524.64	\$78,696.00	\$144.65	\$567.83	\$712.48	\$106,872.00				
2	203	Pavement Planing	S.Y.	31,801	\$2.35	\$74,732.35	\$0.00	\$2.20	\$2.20	\$69,962.20	\$0.00	\$3.85	\$3.85	\$122,433.85				
3	204	Proof Rolling (Contingency)	Hour	10	\$135.00	\$1,350.00	\$0.00	\$125.00	\$125.00	\$1,250.00	\$0.00	\$335.85	\$335.85	\$3,358.50				
4	252	Remove and Replace 6"-8" thick Concrete Drive Approach, Per BEX-ST-03	S.Y.	100	\$142.00	\$14,200.00	\$50.75	\$98.73	\$149.48	\$14,948.00	\$0.00	\$125.00	\$125.00	\$12,500.00				
5	252	Asphalt Driveway Pavement Replacement, Type IIIA Per BEX-UT-05	S.Y.	40	\$167.00	\$6,680.00	\$20.95	\$104.05	\$125.00	\$5,000.00	\$25.72	\$229.96	\$255.68	\$10,227.20				
6	SS 1510	Sami-Seal w/ Polymerized Binder	S.Y.	31,401	\$4.80	\$150,724.80	\$2.25	\$1.32	\$3.57	\$112,101.57	\$1.89	\$1.50	\$3.39	\$106,449.39				
7	407	Tack Coat- Trackless Tack	Gal.	640	\$5.00	\$3,200.00	\$3.70	\$1.00	\$4.70	\$3,008.00	\$1.79	\$3.21	\$5.00	\$3,200.00				
8	441	Asphalt Concrete Surface Course, Type 1, (448) PG 64-22	Tons	3,214	\$145.00	\$466,030.00	\$81.75	\$48.64	\$130.39	\$419,073.46	\$102.65	\$48.65	\$151.30	\$486,278.20				
9	604	Curb Inlet Reconstructed to Grade (Contingency	Ea.	2	\$2,500.00	\$5,000.00	\$600.00	\$2,242.80	\$2,842.80	\$5,685.60	\$0.00	\$1,200.00	\$1,200.00	\$2,400.00				
10	605	3" Roof Drain Reconnect thru Curb	L.F.	35	\$38.50	\$1,347.50	\$5.71	\$41.32	\$47.03	\$1,646.05	\$9.00	\$9.00	\$18.00	\$630.00				
11	605	4" Underdrain Pipe for continuous curb replacment	L.F.	900	\$14.70	\$13,230.00	\$4.06	\$7.46	\$11.52	\$10,368.00	\$7.00	\$6.00	\$13.00	\$11,700.00				
12	608	Detectable Warning- Armortile Wet Set 2'x 4', Red	Ea.	20	\$615.00	\$12,300.00	\$300.00	\$297.86	\$597.86	\$11,957.20	\$100.00	\$150.00	\$250.00	\$5,000.00				
13	608	Remove and Replace Concrete Curb Ramps, Sidewalk and Lead Walks	S.F.	2,200	\$16.10	\$35,420.00	\$4.33	\$10.00	\$14.33	\$31,526.00	\$7.00	\$7.00	\$14.00	\$30,800.00				
14	609	Remove and Replace Concrete Curb and Gutter (Spot Work), Per BEX-ST-09 Including Asphalt Pavement Repair in front of new curb	L.F.	550	\$60.00	\$33,000.00	\$14.99	\$38.68	\$53.67	\$29,518.50	\$20.00	\$25.00	\$45.00	\$24,750.00				
15	609	Remove and Replace Concrete Curb and Gutter (Continuous), Per BEX-ST-08	L.F.	920	\$51.00	\$46,920.00	\$13.73	\$34.40	\$48.13	\$44,279.60	\$20.00	\$15.00	\$35.00	\$32,200.00				
16	644	Parking Lines, 4" White	L.F.	2,300	\$4.00	\$9,200.00	\$0.50	\$2.54	\$3.04	\$6,992.00	\$1.95	\$1.00	\$2.95	\$6,785.00				
17	644	Stop Bars, 20" White	L.F.	427	\$12.00	\$5,124.00	\$4.00	\$7.18	\$11.18	\$4,773.86	\$5.00	\$5.85	\$10.85	\$4,632.95				
18	644	Crosswalks, 12" White	L.F.	2,830	\$5.00	\$14,150.00	\$2.00	\$2.58	\$4.58	\$12,961.40	\$2.00	\$2.45	\$4.45	\$12,593.50				
19	644	Crosswalks, 8" White	L.F.	80	\$4.50	\$360.00	\$1.75	\$2.83	\$4.58	\$366.40	\$2.00	\$2.45	\$4.45	\$356.00				
20	644	Double Yellow Centerline	L.F.	600	\$5.00	\$3,000.00	\$1.25	\$2.66	\$3.91	\$2,346.00	\$2.00	\$1.80	\$3.80	\$2,280.00				
21	251	Partial Depth Asphalt Pavement Repair, 2.0" thick, Spot Work, Various Locations throughout Bexley, as directed	S.Y.	600	\$70.00	\$42,000.00	\$9.30	\$60.70	\$70.00	\$42,000.00	\$9.45	\$53.78	\$63.23	\$37,938.00				1
22	604	MH adjusted to grade	Ea.	12	\$350.00	\$4,200.00	\$200.00	\$250.00	\$450.00	\$5,400.00	\$100.00	\$400.00	\$500.00	\$6,000.00				1
23	638	Water Valve adjusted to grade	Ea.	8	\$300.00	\$2,400.00	\$200.00	\$200.00	\$400.00	\$3,200.00	\$100.00	\$100.00	\$200.00	\$1,600.00				
24	659	4" Topsoil, Seeding & Mulching (Including Excavation)	S.Y.	360	\$15.00	\$5,400.00	\$11.11	\$8.89	\$20.00	\$7,200.00	\$15.00	\$7.00	\$22.00	\$7,920.00				
25	604	Install New Curb and Gutter Inlet per plan	Ea.	4	\$5,000.00	\$20,000.00	\$2,200.00	\$3,433.85	\$5,633.85	\$22,535.40	\$1,301.61	\$2,993.97	\$4,295.58	\$17,182.32				
26	604	Install New Precast Storm Sewer MH per plan	Ea.	1	\$5,000.00	\$5,000.00	\$2,000.00	\$2,522.80	\$4,522.80	\$4,522.80	\$1,792.78	\$4,938.50	\$6,731.28	\$6,731.28				
27	901	12" ADS HP Sanitite Pipe with 304 Backfill, per plan	L.F.	157	\$200.00	\$31,400.00	\$61.03	\$109.89	\$170.92	\$26,834.44	\$33.97	\$124.66	\$158.63	\$24,904.91				
28	901	12" C900 PVC Pipe with 304 Backfill, per plan	L.F.	24	\$300.00	\$7,200.00	\$184.00	\$131.25	\$315.25	\$7,566.00	\$107.40	\$179.48	\$286.88	\$6,885.12				
29	604	Remove and Replace Curb and Gutter Inlet per plan (Northview & Ruhl Intersection)	Ea.	2	\$5,000.00	\$10,000.00	\$2,200.00	\$6,247.70	\$8,447.70	\$16,895.40	\$1,535.13	\$4,652.96	\$6,188.09	\$12,376.18				
30	Spec	Limestone Retaining Wall per BEX-MIS-03 Std Dwg	SF	100	\$100.00	\$10,000.00	\$30.00	\$66.80	\$96.80	\$9,680.00	\$30.00	\$58.00	\$88.00	\$8,800.00				
		Contingency																
31	Spec.	Force Account	L.S.	1	\$50,000.00	\$50,000.00			\$50,000.00	\$50,000.00			\$50,000.00	\$50,000.00				
				ITEMIZED T	OTAL=	\$1,173,568.65				\$1,062,293.88				\$1,165,784.40				No Bid

Ref. No.	Item No. Description	Unit	Quantity	Engine	er's Estimate			3040 McKi Columbus, 0	onstruction nley Avenue Ohio 43204 88-7958			159 Columb	Paving Company 5 Frank Road ous, Ohio 43223 4) 276-5273		345 Columb	t Landscape, Inc. 0 E. 7th Ave. ous, Ohio 43219 1-989-0697
				Unit Price	Item Total	Material Bid	Labor Bid	Unit Price	ltem Total	Material Bid	Labor Bid	Unit Price	ltem Total	Material Bid Labor Bid	Unit Price	ltem Total
	CONTRACT A- ALTERNATE 1- GRANDON AVENUE															
1	203 Asphalt Base Replacement w/ 448 T2 Asphalt as Directed	C.Y.	20	\$600.00	\$12,000.00	\$143.50	\$381.14	\$524.64	\$10,492.80	\$144.65	\$567.83	\$712.48	\$14,249.60			
2	203 Pavement Planing	S.Y.	9,138	\$2.35	\$21,474.30	\$0.00	\$2.23	\$2.23	\$20,377.74	\$0.00	\$2.91	\$2.91	\$26,591.58			
3	204 Proof Rolling (Contingency)	Hour	1	\$135.00	\$135.00	\$0.00	\$125.00	\$125.00	\$125.00	\$0.00	\$341.80	\$341.80	\$341.80			
4	SS 1510 Sami-Seal w/ Polymerized Binder	S.Y.	9,138	\$4.80	\$43,862.40	\$2.25	\$1.29	\$3.54	\$32,348.52	\$1.50	\$1.86	\$3.36	\$30,703.68			
5	407 Tack Coat- Trackless Tack	Gal.	100	\$5.00	\$500.00	\$3.70	\$1.00	\$4.70	\$470.00	\$3.27	\$3.74	\$7.01	\$701.00			
6	Asphalt Concrete Surface Course, Type 1, (448) PG 64-22	Tons	771	\$145.00	\$111,795.00	\$81.75	\$48.64	\$130.39	\$100,530.69	\$99.58	\$40.41	\$139.99	\$107,932.29			
7	Stop Bars, 20" White	L.F.	200	\$12.00	\$2,400.00	\$4.00	\$7.18	\$11.18	\$2,236.00	\$5.00	\$5.85	\$10.85	\$2,170.00			
8	644 Crosswalks, 12" White	L.F.	700	\$5.00	\$3,500.00	\$2.00	\$2.58	\$4.58	\$3,206.00	\$2.00	\$2.45	\$4.45	\$3,115.00			
9	644 Crosswalks, 8" White	L.F.	130	\$4.50	\$585.00	\$1.75	\$2.83	\$4.58	\$595.40	\$2.00	\$2.45	\$4.45	\$578.50			
10	644 Double Yellow Centerline	L.F.	480	\$5.00	\$2,400.00	\$1.25	\$2.66	\$3.91	\$1,876.80	\$1.00	\$2.80	\$3.80	\$1,824.00			
11	MH adjusted to grade	Ea.	1	\$350.00	\$350.00	\$200.00	\$250.00	\$450.00	\$450.00	\$100.00	\$400.00	\$500.00	\$500.00			
12	Water Valve adjusted to grade	Ea.	1	\$300.00	\$300.00	\$200.00	\$200.00	\$400.00	\$400.00	\$100.00	\$100.00	\$200.00	\$200.00			
Force A	count Contingency															
13	Spec. Force Account	L.S.	1	\$10,000.00	\$10,000.00			\$10,000.00	\$10,000.00			\$10,000.00	\$10,000.00			
			ITEMIZED TO	OTAL=	\$209,301.70				\$183,108.95				\$198,907.45			No Bid

Ref. No.	Item No.	Description	Unit	Quantity		eer's Estimate		-	3040 McKi Columbus, ((614) 4	onstruction nley Avenue Ohio 43204 88-7958			1595 Columbu (614	Paving Company Frank Road Is, Ohio 43223) 276-5273			3450 Columbus, 614-9	andscape, Inc. E. 7th Ave. Ohio 43219 89-0697
		CONTRACT A- ALTERNATE 2- CHELSEA AVENUE			Unit Price	Item Total	Material Bid	Labor Bid	Unit Price	Item Total	Material Bid	Labor Bid	Unit Price	Item Total	Material Bid	Labor Bid	Unit Price	Item Total
		CONTRACT A- ALTERNATE 2- CHELSEA AVENUE																
1	203	Asphalt Base Replacement w/ 448 T2 Asphalt as Directed	C.Y.	20	\$600.00	\$12,000.00	\$143.50	\$381.14	\$524.64	\$10,492.80	\$144.65	\$567.83	\$712.48	\$14,249.60				
2	203	Pavement Planing	S.Y.	9,163	\$2.35	\$21,533.05	\$0.00	\$2.23	\$2.23	\$20,433.49	\$0.00	\$2.96	\$2.96	\$27,122.48				
3	204	Proof Rolling (Contingency)	Hour	1	\$135.00	\$135.00	\$0.00	\$125.00	\$125.00	\$125.00	\$0.00	\$335.85	\$335.85	\$335.85				
4	SS 1510	Sami-Seal w/ Polymerized Binder	S.Y.	9,163	\$4.80	\$43,982.40	\$2.25	\$1.29	\$3.54	\$32,437.02	\$1.50	\$1.86	\$3.36	\$30,787.68				
5		Tack Coat- Trackless Tack	Gal.	100	\$5.00	\$500.00	\$3.70	\$1.00	\$4.70	\$470.00	\$3.27	\$3.74	\$7.01	\$701.00				
6	441	Asphalt Concrete Surface Course, Type 1, (448) PG 64-22	Tons	773	\$142.00	\$109,766.00	\$81.75	\$48.64	\$130.39	\$100,791.47	\$99.28	\$40.21	\$139.49	\$107,825.77				
7	605	3" Roof Drain Reconnect thru Curb	L.F.	10	\$40.00	\$400.00	\$5.20	\$76.75	\$81.95	\$819.50	\$10.00	\$8.00	\$18.00	\$180.00				
8	608	Detectable Warning- Armortile Wet Set 2'x 4', Red	Ea.	4	\$615.00	\$2,460.00	\$300.00	\$297.86	\$597.86	\$2,391.44	\$100.00	\$150.00	\$250.00	\$1,000.00				
9	608	Remove and Replace Concrete Curb Ramps, Sidewalk and Lead Walks	S.F.	400	\$16.10	\$6,440.00	\$5.29	\$9.66	\$14.95	\$5,980.00	\$7.00	\$7.00	\$14.00	\$5,600.00				
10		Remove and Replace Concrete Curb and Gutter (Spot Work), Per BEX-ST-09 Including Asphalt Pavement Repair in front of new curb	L.F.	400	\$60.00	\$24,000.00	\$16.56	\$39.00	\$55.56	\$22,224.00	\$25.00	\$20.00	\$45.00	\$18,000.00				
11	644	Stop Bars, 20" White	L.F.	160	\$12.00	\$1,920.00	\$4.00	\$7.18	\$11.18	\$1,788.80	\$5.00	\$5.85	\$10.85	\$1,736.00				
12	644	Crosswalks, 12" White	L.F.	600	\$5.00	\$3,000.00	\$2.00	\$2.58	\$4.58	\$2,748.00	\$2.00	\$2.45	\$4.45	\$2,670.00				
13	644	Crosswalks, 8" White	L.F.	130	\$4.50	\$585.00	\$1.75	\$2.83	\$4.58	\$595.40	\$2.00	\$2.45	\$4.45	\$578.50				
14	644	Double Yellow Centerline	L.F.	240	\$5.00	\$1,200.00	\$1.25	\$2.66	\$3.91	\$938.40	\$2.00	\$1.80	\$3.80	\$912.00				
15	604	MH adjusted to grade	Ea.	1	\$350.00	\$350.00	\$200.00	\$250.00	\$450.00	\$450.00	\$100.00	\$400.00	\$500.00	\$500.00				
16	638	Water Valve adjusted to grade	Ea.	1	\$300.00	\$300.00	\$200.00	\$200.00	\$400.00	\$400.00	\$100.00	\$100.00	\$200.00	\$200.00				
Force A	ccount C	ontingency																
17	Spec.	Force Account	L.S.	1	\$10,000.00	\$10,000.00			\$10,000.00	\$10,000.00			\$10,000.00	\$10,000.00				
				ITEMIZED T	OTAL=	\$238,571.45				\$213,085.32				\$222,398.88			No	Bid

Ref. No.	Item No. Description	Unit	Quantity	Engine	er's Estimate		-	Decker Co 3040 McKii Columbus, C (614) 48	nley Avenue			159. Columb	Paving Company 5 Frank Road us, Ohio 43223 4) 276-5273		345 Columb	Landscape, Inc. 0 E. 7th Ave. us, Ohio 43219 I-989-0697
				Unit Price	Item Total	Material Bid	Labor Bid	Unit Price	Item Total	Material Bid	Labor Bid	Unit Price	ltem Total	Material Bid Labor Bid	Unit Price	Item Total
	CONTRACT A- ALTERNATE 3- REMINGTON AT CHARLES															
								4					4 4.			
1	201 Clearing & Grubbing Misc. Removal of Concrete Wall, Patio and Bushes, Trees, Landscape Timbers,	L.S	1	3000	\$3,000.00	\$0.00	\$1,613.78	\$1,613.78	\$1,613.78	\$0.00	\$1,750.00	\$1,750.00	\$1,750.00			
2	201-202 etc. as required to install new concrete Curb & Sidewalk per plan	LS	1	\$7,500.00	\$7,500.00	\$0.00	\$1,613.78	\$1,613.78	\$1,613.78	\$0.00	\$1,800.00	\$1,800.00	\$1,800.00			
3	203 Asphalt Base Replacement w/ 448 T2 Asphalt as Directed	C.Y.	40	\$600.00	\$24,000.00	\$143.50	\$381.14	\$524.64	\$20,985.60	\$144.65	\$309.12	\$453.77	\$18,150.80			
4	203 Pavement Planing	S.Y.	1,200	\$2.14	\$2,568.00	\$0.00	\$2.23	\$2.23	\$2,676.00	\$0.00	\$4.64	\$4.64	\$5,568.00			
5	Proof Rolling (Contingency)	Hour	1	\$125.00	\$125.00	\$0.00	\$125.00	\$125.00	\$125.00	\$0.00	\$335.85	\$335.85	\$335.85			
6	Remove and Replace 6"-8" thick Concrete Drive Approach, Per BEX-ST-03	S.Y.	90	\$129.17	\$11,625.30	\$51.88	\$89.81	\$141.69	\$12,752.10	\$60.00	\$65.00	\$125.00	\$11,250.00			
7	Asphalt Driveway Pavement Replacement, Type IIIA Per BEX-UT-05	S.Y.	40	\$152.17	\$6,086.80	\$20.95	\$104.05	\$125.00	\$5,000.00	\$25.72	\$229.96	\$255.68	\$10,227.20			
8	SS 1510 Sami-Seal w/ Polymerized Binder	S.Y.	1,200	\$4.40	\$5,280.00	\$2.25	\$1.29	\$3.54	\$4,248.00	\$1.50	\$1.86	\$3.36	\$4,032.00			
9	407 Tack Coat- Trackless Tack	Gal.	40	\$4.50	\$180.00	\$3.70	\$1.00	\$4.70	\$188.00	\$3.27	\$5.85	\$9.12	\$364.80			
10	Asphalt Concrete Surface Course, Type 1, (448) PG 64-22	Tons	101	\$131.76	\$13,307.76	\$81.75	\$48.64	\$130.39	\$13,169.39	\$123.81	\$54.23	\$178.04	\$17,982.04			
11	605 3" Roof Drain Reconnect thru Curb	L.F.	60	\$35.18	\$2,110.80	\$5.60	\$19.83	\$25.43	\$1,525.80	\$10.00	\$8.00	\$18.00	\$1,080.00			
12	4" Underdrain Pipe for continuous curb replacment	L.F.	850	\$13.39	\$11,381.50	\$4.56	\$7.16	\$11. <i>7</i> 2	\$9,962.00	\$7.00	\$6.00	\$13.00	\$11,050.00			
13	Detectable Warning- Armortile Wet Set 2'x 4', Red	Ea.	12	\$556.92	\$6,683.04	\$300.00	\$213.57	\$513.57	\$6,162.84	\$100.00	\$150.00	\$250.00	\$3,000.00			
14	Remove and Replace Concrete Curb Ramps, Sidewalk and Lead Walks	S.F.	2,900	\$14.64	\$42,456.00	\$5.61	\$6.70	\$12.31	\$35,699.00	\$7.00	\$6.00	\$13.00	\$37,700.00			
15	Remove and Replace Concrete Curb and Gutter (Continuous), Per BEX-ST-08 Including Asphalt Pavement Repair in front of new curb	L.F.	850	\$46.41	\$39,448.50	\$14.90	\$30.80	\$45.70	\$38,845.00	\$18.00	\$17.00	\$35.00	\$29,750.00			
16	644 Stop Bars, 20" White	L.F.	36	\$11.02	\$396.72	\$4.00	\$7.18	\$11.18	\$402.48	\$5.00	\$5.85	\$10.85	\$390.60			
17	644 Crosswalks, 12" White	L.F.	300	\$4.72	\$1,416.00	\$2.00	\$2.58	\$4.58	\$1,374.00	\$2.00	\$2.45	\$4.45	\$1,335.00			
18	644 Double Yellow Centerline	L.F.	90	\$4.20	\$378.00	\$1.25	\$2.66	\$3.91	\$351.90	\$2.00	\$1.80	\$3.80	\$342.00			
19	604 MH adjusted to grade	Ea.	1	\$350.00	\$350.00	\$200.00	\$2.00	\$450.00	\$450.00	\$100.00	\$100.00	\$200.00	\$200.00			
	Material Advantage and Secretarial Assessment		1		·			·				·				
20	All Target Operation Containing (Including Francisco)	Ea.	500	\$300.00	\$300.00	\$200.00	\$200.00	\$400.00	\$400.00	\$100.00	\$400.00	\$500.00	\$500.00			
21	Limestone Detaining Well now DEV MIC 02 Ctd Durg	S.Y.	500	\$15.00	\$7,500.00	\$11.11	\$8.89	\$20.00	\$10,000.00	\$15.00	\$7.00	\$22.00	\$11,000.00			
22 Force A	Spec Limestone Retaining wan per BEX-INIS-03 Std Dwg	SF	100	\$100.00	\$10,000.00	\$30.00	\$66.80	\$96.80	\$9,680.00	\$30.00	\$58.00	\$88.00	\$8,800.00			
	Spec. Force Account	L.S.	1	\$10,000.00	\$10,000.00			\$10,000.00	\$10,000.00			\$10,000.00	\$10,000.00			
23	upen		ITEMIZED TO		\$206,093.42			\$10,000.00	\$187,224.67			ψ10,000.00	\$186,608.29			No Bid
			ITEMILED I	VIAL-	\$2U0,UY3.4Z				Ψ187,224.07				φ i 80,0∪8.∠9			IAO BIQ

		CONTRACT B- BRICK PAVEMENT REPAIR														
							•			 						
1	203	Removal and Replacement of Main Street Bricks on new asphalt bedding over existing concrete base, as directed	S.Y.	30	350.00	\$10,500.00							\$180.00	\$135.00	\$315.00	\$9,450.00
2	Spec.	Remove and Relay Brick Pavers on No. 9 Limestone/Cement Bedding, Spot Work as directed	S.Y.	600	95.00	\$57,000.00							\$6.50	\$86.65	\$93.15	\$55,890.00
3		Furnish Replacement Bricks, Kiln Fired Clay, 4" x 8" x 3" thick, reclaimed to match existing	Ea.	2,000	3.00	\$6,000.00							\$3.00	\$0.45	\$3.45	\$6,900.00
Force A	ccount (Contingency														
4	Spec.	Force Account	L.S.	1	\$5,000.00	\$5,000.00									\$5,000.00	\$5,000.00
						\$78,500.00			No Bid			No Bid				\$77,240.00
						Engineer's Estimate		Rank	Decker Construction		Rank	Strawser Paving Company			Rank	Midwest Landscape, Inc.
				Contract A	Bid Total	\$1,173,568.65		1	\$1,062,293.88		2	\$1,165,784.40			I	No Bid
				Percent ab	ove/below Estimate	e			-9.5%			-0.7%				
				Contract A												
					1, 2 and 3	\$1,827,535.22			\$1,645,712.82			\$1,773,699.02				
				Percent ab	ove/below Estimate	9			-9.9%			-2.9%				
				Contract B	Bid Total	\$78,500.00			No Bid			No Bid			1	\$77,240.00
					ove/below Estimate											-1.6%
					,						ı					- ,•
		David B Koch, PE	•													

BID TABULATION- 2024 STREET IMPROVEMENTS- CONTRACT A & B

Page	Contractor:	Decker Construction	Strawser Paving Company	Midwest Landscape, Inc.
- 3 -	All required documents submitted	Yes	Yes	Yes
4	Proposal Completed Correctly	Yes	Yes	Yes
4	All spaces filled in properly	Yes	Yes	Yes
4	Price for labor and material stated separately	Yes	Yes	Yes
4	Total Price Checked	Yes	Yes	Yes
5	Non-collusion Affidavit Completed	Yes	Yes	Yes
6	Corporation Affidavit Completed (if applicable)	Yes	Yes	Yes
7	Affidavit of Personal Property Tax Liability Completed	Yes	Yes	Yes
7a	Auditor of State- Unresolved Findings for Recovery Certified Search Completed	Yes	Did Not Perform Check	Yes
8	Bid Guaranty and Contract Bond Completed	Yes	Yes	Yes
10	Detailed Statement of Qualifications Included	Yes	Yes	Yes
11	Sub-Contractors List Included	Yes	Yes	Yes
11	EDGE 5% Goal Provided	Yes	Yes	Waiver Requested
12	Campaign Contributions Affidavit Completed	Yes	Yes	Yes
13	EEO Certificate of Compliance from ODAS	Yes	Yes	Yes
4b	Bid Addendums Acknowledged	N/A	N/A	N/A
	Bond Amount	Amount of Bid	Amount of Bid	Amount of Bid
	Bonding Agency	Cincinnati Insurance Company	Fidelity and Deposit Company of Maryland	West Bend Mutual Insurance
	A.M. Best Rating	A		